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101|R#A7 L 273 130 143| Kg |EE 1,188 378| 3,780 864
102|&JE 7= L 1,827 1,827| Kg S - BIE 3,305 756
111|&EEF £ 362 65 297 Keg |EBRS 756 432|ERE - BA 1,728 295
113|RAV S 5 1 4l Kg |B) 162 =35 4,320 1,620
114|B5EFE 170 170| Kg e 2,646 540
15[ 1= 3 1 2| Keg |EE 1,080 R 3,240
117[1E 242 143 99| Kg |EE 1,404 540|fEfE 3,780 648
121|rblE &€ 166 57 109| Kg |EE 1,404 163| )& 1,728 648
134[#= = 580 245 335| Kg |=# 3,300 1,400| =4 3,240 1,620
137|&5E.3. < 101 77 24| Kg |BER 3,564 108|&Hx 4,104 1,188
140(5 I 11 11| Kg e[AEs 54,000 22,500
147|EZ O 49 49| Kg |EE 8,100 5400|ERE - RIF 9,000 5,000
158|EIEA A LS 275 23 252| Kg |ERE 1,404 216|% 1l 2,106 648
201{Lvb L 456 456| Kg K% 486 300
203|/hd L 54 54|  Kg R 351 135
205|3.3 L 200 200| Kg K% 540 386
206| = 1F 500 500| Kg KI5 756 216
207| & A% 254 254  Kg = 1,890 1,096
208| Mo % 358 358| Kg X 1,404 568
2094 B & L 60 60| Kg BER 1,215 810
210|1F ALy 459 391 68| Kg |RI& 4,860 540| R 4,860 2,160
212|&5E.3Y 250 250 Kg EN - B1E 2,160 1,188
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22202 280 280 Kg = 702 486
251[<AFECA 281 281 Kg R 4,158 3,564
252|LWAEXECAH 118 118 Kg |#8FE 3,024

254|EDT2ELCAH 317 317 Kg E2p] 1,998 1,166
303[A 27z 55 39 16| Kg |RI& 476 424 | KI5 450
305|xAah>ob 26 26| Kg =) 3,780 3,456
306|Le kY 18 15 3l Kg [RIF 652 600( 1L 864

315|7: b5 6 21 21 Kg = IRy 3,240 2,700
3191 h o 697 80 617 Kg |EE 1,620 432| K - EiR 1,728 540
332|115 WA EF 143 143] Kg JbF 1,944 1,728
351|4& 8 10 10| Kg FIE 29,160 4,860
3541 <Y 108 15 93] Kg |TFE 1,728 1,296|F % 2,052 432
3/5|HEY 105 15 90| Kg [ZA0 1,296 648|Z A - BBE 1,728 600
356|L L& 50 50 Kg SHR 1,512 540
357/~ E 36 36 Kg FEE 1,944 1,148
362| & 60 60 Kg BJE 3,024 936
401|H W 20 20 Kg FAN 2,376 2,160
4025 & 5 5 Kg A0 5,670
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BERbBAZLD 26 26| Kg 2P 1,190
AN 30 30 Kg i 400 1,390
AERAT AT 676 676 Kg 2P 1,632 473
BRCZEZV 17 171 Kg H[E 1,782 1,342
JE WA AE 30 30 Kg Bl = 950

iy} 30 30 Kg i 1,296 756
Jarys: e 552 552 Kg 2P 3,666 1,650
B 20 201 Kg i 4,000

BRI 125 1251 Kg Bl = 1,080 1,000
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70110 BA 6,896 4,839 2,067 Kg |EE 3,609 2,249| k&= 3,294 1,404
71019 2 ®HA0F 50 501 Kg BRS 1,296
BlBEFALANIN 187 91 9| Kg |B1R 1,332 1,054 & 1,323
755(Fd L 158 158| Kg B 775 504
56| £ 9 84 84| Kg SR 1,152 1,144
01 [IBAL = 1T 163 163| Kg tmE - mA 2,754 1,134
805 = 1E 172 172 Kg bF 972 734
807 | D F 176 176 Kg JbiF 4,320 2,808
810|FAKF 132 132 Kg bF 3,240 1,458
8lh|—W T AX 20 201 Kg blo ] 918
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